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1. ��%��$& �$��$���/ ''���/% �$��&�� 

1.1 �5?4EFL ?D<<5=5=<O ?D>7D4<<O 

�D>7D4<<4 GG55=>= ?D4>F<>< 3 O6?O5FEO G4EFLN ?D>7D4<<O ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 
765=4 6 E>>F65FEF6<< E $��% %�� ?> E?5F<4?L=>EF< 21.02.11 �5>D<7<G5E><5 <5F>4O ?><E>>6 < 
D47654>< <5EF>D>645=<= ?>?57=OE <E>>?45<OE, 6 G4EF< >E6>5=<O >64?<D<>4F<< F5E=<>-75>D<7<> 
< >E=>6=OE 6<4>6 45OF5?L=>EF< (��): 
 

�� 01. �D>6545=<5 D45>F ?> D57<EFD4F<< =475<=OE < E>646<==OE 75>D<7<G5E><E 44==OE 

�� 02. �D>6545=<5 D45>F ?> >5D45>F>5 < <=F5D?D5F4F<< =475<=OE < E>646<==OE 75>D<7<G5E><E 
44==OE  
  

'G55=4O ?D4>F<>4 O6?O5FEO >5O74F5?L=O<< D4745?>< >E6>5=<O ��.  

 

1.2. &5?< < 7444G< GG55=>= ?D4>F<>< 

$>D<<D>64=<5 G >5GG4NM<EEO ?D4>F<G5E><E ?D>D5EE<>=4?L=OE G<5=<=, ?D<>5D5F5=<5 
?5D6>=4G4?L=>7> ?D4>F<G5E>>7> >?OF4 6 D4<>4E D54?<74F<< ?D>D5EE<>=4?L=OE <>4G?5= ?> 6<44< 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< 4?O ?>E?54GNM57> >E6>5=<O <<< >5M<E (��) < 
?D>D5EE<>=4?L=OE >><?5F5=F<= (��) ?> E?5F<4?L=>EF< 21.02.11 �5>D<7<G5E><5 <5F>4O ?><E>>6 
< D47654>< <5EF>D>645=<= ?>?57=OE <E>>?45<OE. 
�4>D5??5=<5, D4EL<D5=<5, G7?G5?5=<5 < E<EF5<4F<74F<O 7=4=<= < G<5=<=, ?>?GG5==OE ?D< 
<7GG5=<< 4<EF<??<= < ?D>D5EE<>=4?L=OE <>4G?5= GG55=>7> ??4=4 E?5F<4?L=>EF<. 
 

1.3. &D55>64=<O > D57G?LF4F4< GG55=>= ?D4>F<><  
 � D57G?LF4F5 ?D>E>645=<O GG55=>= ?D4>F<>< >5GG4NM<=EO 4>?65= >E6><FL: 

��� �D>D5EE<>=4?L=O5 >><?5F5=F<< 

 ��.01  
�D>6545=<5 D45>F ?> 
D57<EFD4F<< =475<=OE < 
E>646<==OE 75>D<7<G5E><E 
44==OE 

�� 1.1 �O?>?=OFL F5E=<G5E><5 D45>FO ?D< D57<EFD4F<< 
=475<=OE < E>646<==OE 75>D<7<G5E><E 44==OE 

�� 1.2 �EGM5EF6?OFL 4>>G<5=F4F<>==>5 >55E?5G5=<5 D45>F 
?> D57<EFD4F<< =475<=OE < E>646<==OE 75>D<7<G5E><E 
44==OE 

�� 1.3 �D>65DOFL F5E=<G5E>>5 E>EF>O=<5 >5>DG4>64=<O, 
=5>5E>4<<>7> 4?O ?D>6545=<O 75>D<7<G5E><E D45>F  

��.02 �D>6545=<5 D45>F 
?> >5D45>F>5 < 
<=F5D?D5F4F<< =475<=OE < 
E>646<==OE 75>D<7<G5E><E 
44==OE  

�� 2.1 �O?>?=OFL F5E=<G5E><5 D45>FO ?> D57<EFD4F<<, 
>5D45>F>5 < <=F5D?D5F4F<< =475<=OE 75>D<7<G5E><E 44==OE 

�� 2.2 �EGM5EF6?OFL 4>>G<5=F4F<>==>5 >55E?5G5=<5 D45>F 
?> >5D45>F>5 < <=F5D?D5F4F<< =475<=OE < E>646<==OE 
75>D<7<G5E><E 44==OE 

�� 2.3 �EGM5EF6?OFL >5D45>F>G < <=F5D?D5F4F<N =475<=OE 
< E>646<==OE 75>D<7<G5E><E 44==OE 

 

1.4. $>D<>= >>=FD>?O GG55=OE ?D4>F<> O6?O5FEO 74GUF. 
 

1.5. �>?<G5EF6> G4E>6 =4 >E6>5=<5 ?D>7D4<<O GG55=OE ?D4>F<>: 
 

�E57> 432  G4E4, 6 F>< G<E?5: 
6 D4<>4E >E6>5=<O ��.01 - 180 G4E>6; 
6 D4<>4E >E6>5=<O ��.02 - 252 G4E4. 

2. ''����/ �$��&��� �� �$�$�%%�����,�/� ���'�/� 
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$57G?LF4F>< >E6>5=<O ?D>7D4<<O GG55=OE ?D4>F<> O6?O5FEO ?D<>5D5F5=<5 >5GG4NM<<<EO 
?D4>F<G5E>>7> >?OF4 (=46O>>6) < ?D>D5EE<>=4?L=OE G<5=<= ?> 6<44< ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< 4?O ?>E?54GNM57> >E6>5=<O >5GG4NM<<<EO >5M<E < ?D>D5EE<>=4?L=OE 
>><?5F5=F<= ?> E?5F<4?L=>EF< 21.02.11 �5>D<7<G5E><5 <5F>4O ?><E>>6 < D47654>< 
<5EF>D>645=<= ?>?57=OE <E>>?45<OE. 
��.01 �D>6545=<5 D45>F ?> D57<EFD4F<< =475<=OE < E>646<==OE 75>D<7<G5E><E 44==OE.  

$57G?LF4F>< >E6>5=<O ?D>7D4<<O GG55=>= ?D4>F<>< O6?ONFEO ED>D<<D>64==O5 
?D>D5EE<>=4?L=O5 >><?5F5=F<<: 

�>4 �4<<5=>64=<5 ?D>D5EE<>=4?L=>= >><?5F5=F<< 
�� 1.1. �O?>?=OFL F5E=<G5E><5 D45>FO ?D< D57<EFD4F<< =475<=OE < E>646<==OE 

75>D<7<G5E><E 44==OE 
�� 1.2. �EGM5EF6?OFL 4>>G<5=F4F<>==>5 >55E?5G5=<5 D45>F ?> D57<EFD4F<< =475<=OE 

< E>646<==OE 75>D<7<G5E><E 44==OE 

�� 1.3. �D>65DOFL F5E=<G5E>>5 E>EF>O=<5 >5>DG4>64=<O, =5>5E>4<<>7> 4?O 
?D>6545=<O 75>D<7<G5E><E D45>F  

% F5?LN >6?445=<O G>474==O< 6<4>< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < E>>F65FEF6GNM<<< 
?D>D5EE<>=4?L=O<< >><?5F5=F<O<< >5GG4NM<=EO 6 E>45 >E6>5=<O ?D>7D4<<O GG55=>= ?D4>F<>< 
4>?65= <<5FL ?D4>F<G5E><= >?OF: 
- ?>47>F>6>< 75>D<7<G5E>>= 4??4D4FGDO, >>=FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6 < >5>DG4>64=<O; 
- ?>47>F>6>< > <>=F46G < 45<>=F46G F5E=<G5E><E ED54EF6 D57<EFD4F<< 75>D<7<G5E><E 44==OE; 
- <>=F464 (>><??5>F4F<<) GEF4=>6>> 4?O ?D>6545=<O 75>D<7<G5E><E D45>F; 
G<5FL: 
- ?>45<D4FL 75>D<7<G5E>GN 4??4D4FGDG < >>=FD>?L=>-<7<5D<F5?L=O5 ?D<5>DO ?> 6O5D4==><G 
<5F>4G 75>D<7<G5E><E <EE?54>64=<=; 
- ?D>65DOFL <E?D46=>EFL < D45>F>E?>E>5=>EFL 75>D<7<G5E>>= 4??4D4FGDO < >5>DG4>64=<O; 

- ?D<<5=OFL >>=FD>?L=>-<7<5D<F5?L=O5 < 4<47=>EF<G5E><5 ?D<5>DO; 
- ?>47>F46?<64FL F5E=<G5E><5 ED54EF64 D57<EFD4F<< 75>D<7<G5E><E 44==OE > <>=F46G/45<>=F46G; 
- D57G?<D>64FL < =4EFD4<64FL 75>D<7<G5E><5 ?D<5>DO =4 ?D<5< E>>F65FEF6GNM57> E<7=4?4; 
- E=<<4FL ?>>474=<O 75>D<7<G5E><E ?D<5>D>6; 
- >?D545?OFL GG6EF6<F5?L=>EFL GEF4=>6>> < >F5=<64FL >4G5EF6> E<7=4?4; 
- 6O5<D4FL >?F<<4?L=O5 ?4D4<5FDO <E>GEEF65==OE 75>D<7<G5E><E ?>?5=; 
- 6OO6?OFL 4??4D4FGD=O5 ?D<G<=O >E?45?5=<O < GEG4L5=<O >4G5EF64 D57<EFD<DG5<OE E<7=4?>6; 
�=4FL: 
- 6<4O D57<EFD<DG5<OE E<7=4?>6 < <E >E=>6=O5 E4D4>F5D<EF<><; 
- ?D<=F<?O ?D5>5D47>64=<O M?5>FD<G5E><E E<7=4?>6 6 F<DD>6O5; 
- E?>E>5O <7<5D5=<O 4??4D4FGD>= < ?D<5>D4<<; 
- =47=4G5=<5, >E=>6=O5 F<?O, GEFD>=EF6>, ?D<=F<? D45>FO, F5E=<G5E><E E4D4>F5D<EF<> < >5?4EFL 
?D<<5=5=<O 75>D<7<G5E>>= 4??4D4FGDO < >>=FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6; 
- EE5<O 75>D<7<G5E><E GEF4=>6>>; 
- ?>DO4>>, E?>E>5O E5>D>< (45<>=F464) 75>D<7<G5E><E GEF4=>6>>; 
- F5E=>?>7<N =4EFD>=>< 4??4D4FGDO =4 >>=>D5F=O= E<7=4?; 
- ?D46<?4 >5E?G6<64=<O 4??4D4FGDO, ?D<5>D>6 < GEF4=>6>>; 
- <EF>G=<>< F>>4 M?5>FD<G5E><E < M?5>FD><47=<F=OE ?>?5=; - >E=>6=O5 ?D46<?4 557>?4E=>= D45>FO 
E <EF>G=<>4<< M?5>FD>?<F4=<O; 
- 6>?=O, <E?>?L7G5<OE 6 E5=E<>D47654>5; 
- =47=4G5=<5 <EF>G=<>>6 6>75G645=<O 75>D<7<G5E><E ?>?5=; 
- E?>E>5O 6>75G645=<O 75>D<7<G5E><E ?>?5=. 
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��. 02 �D>6545=<5 D45>F ?> >5D45>F>5 < <=F5D?D5F4F<< =475<=OE < E>646<==OE 
75>D<7<G5E><E 44==OE  

$57G?LF4F>< >E6>5=<O ?D>7D4<<O GG55=>= ?D4>F<>< O6?ONFEO ED>D<<D>64==O5 
?D>D5EE<>=4?L=O5 >><?5F5=F<<: 

�>4 �4<<5=>64=<5 ?D>D5EE<>=4?L=>= >><?5F5=F<< 
�� 2.1.  �O?>?=OFL F5E=<G5E><5 D45>FO ?> D57<EFD4F<<, >5D45>F>5 < <=F5D?D5F4F<< 

=475<=OE 75>D<7<G5E><E 44==OE 

�� 2.2  �EGM5EF6?OFL 4>>G<5=F4F<>==>5 >55E?5G5=<5 D45>F ?> >5D45>F>5 < 
<=F5D?D5F4F<< =475<=OE < E>646<==OE 75>D<7<G5E><E 44==OE 

�� 2.3 �EGM5EF6?OFL >5D45>F>G < <=F5D?D5F4F<N =475<=OE < E>646<==OE 
75>D<7<G5E><E 44==OE. 

% F5?LN >6?445=<O G>474==O< 6<4>< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < E>>F65FEF6GNM<<< 
?D>D5EE<>=4?L=O<< >><?5F5=F<O<< >5GG4NM<=EO 6 E>45 >E6>5=<O ?D>7D4<<O GG55=>= ?D4>F<>< 
4>?65= <<5FL ?D4>F<G5E><= >?OF: 
- 6O?>?=5=<O 75>D<7<G5E><E <EE?54>64=<=; 
- ?>47>F>6>< <4F5D<4?>6 75>D<7<G5E><E <EE?54>64=<= > >5D45>F>5, >5>5M5=<N D57G?LF4F>6 
75>D<7<G5E><E 44==OE; 
- 6545=<O F5>GM5= 4>>G<5=F4F<< ?> >5D45>F>5 < <=F5D?D5F4F<< 75>D<7<G5E><E 44==OE. 
G<5FL: 
-  ?D><76>4<FL <7<5D5=<O < 65EF< ?>?56GN 4>>G<5=F4F<N; 
-  6OO6?OFL <5F>4<G5E><5 ?D<G<=O >E?45?5=<O < GEG4L5=<O >4G5EF64 D57<EFD<DG5<OE E<7=4?>6; 
-  >F5=<64FL >4G5EF6> < E>EF46 75>D<7<G5E><E 44==OE; 
-  >F5=<64FL ?4D4<5FDO < ?D<D>4G <5EF>D>645=<O ?>?57=OE <E>>?45<OE; 
-  =4=>E<FL D57G?LF4FO <EE?54>64=<= =4 75>?>7<G5E><5 < 75>D<7<G5E><5 >4DFO; 
-  >EGM5EF6?OFL >5D45>F>G < >4G5EF65==GN <=F5D?D5F4F<N D57G?LF4F>6 <EE?54>64=<=; 
-  EFD><FL 7D4D<><, >4DFO < D47D57O D57G?LF4F>6 <EE?54>64=<=; 
-  6O5<D4FL ?4D4<5FDO 67DO6=>7> < =567DO6=>7> 6>75G645=<O >>?554=<=; 
-  >5D454FO64FL D57G?LF4FO <7<5D5=<= =475<=OE < E>646<==OE <EE?54>64=<=; 
- >D>D<?OFL F5>GMGN 4>>G<5=F4F<N ?> >5D45>F>5 < <=F5D?D5F4F<< =475<=OE 75>D<7<G5E><E 
44==OE < 65EF< 55 GG5F; 
-  6O5<D4FL >><??5>E 75>D<7<G5E><E <5F>4>6 <EE?54>64=<= ?> 75>?>7<G5E>><G 7444=<N =4 
<5EF>D>645=<OE ?>?57=OE <E>>?45<OE; 
- ?>?L7>64FLEO =4GG=>-F5E=<G5E>>= 4>>G<5=F4F<5= 6 >5?4EF< >5D45>F>< < <=F5D?D5F4F<< 
75>D<7<G5E><E 44==OE; 
-  E>5?N44FL ?D46<?4 >ED4=O FDG44, >>DG64NM5= ED54O < F5E=<>< 557>?4E=>EF< ?D< 
75>D<7<G5E><E <EE?54>64=<OE; 
  

� F>< G<E?5 4>?6=O 5OFL ED>D<<D>64=O >5M<5 >><?5F5=F<<: 
�>4 �4<<5=>64=<5 >5M<E >><?5F5=F<= 

�� 01 �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< ?D<<5=<F5?L=> > 
D47?<G=O< >>=F5>EF4< 

�� 02 �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < <=F5D?D5F4F<< <=D>D<4F<<, < 
<=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
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�� 03 �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < ?<G=>EF=>5 D476<F<5, 
?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 ?D>D5EE<>=4?L=>= ED5D5, <E?>?L7>64FL 7=4=<O 
?> D<=4=E>6>= 7D4<>F=>EF< 6 D47?<G=OE 6<7=5==OE E<FG4F<OE. 

�� 04 -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < >><4=45 

�� 05 �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 7>EG44DEF65==>< O7O>5 
$>EE<=E>>= $545D4F<< E GG5F>< >E>55==>EF5= E>F<4?L=>7> < >G?LFGD=>7> >>=F5>EF4 

�� 06 �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 45<>=EFD<D>64FL >E>7=4==>5 
?>6545=<5 =4 >E=>65 FD44<F<>==OE >5M5G5?>65G5E><E F5==>EF5=, 6 F>< G<E?5 E 
GG5F>< 74D<>=<74F<< <56=4F<>=4?L=OE < <56D5?<7<>7=OE >F=>L5=<=, ?D<<5=OFL 
EF4=44DFO 4=F<>>DDG?F<>==>7> ?>6545=<O 

�� 07 %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, D5EGDE>E55D565=<N, ?D<<5=OFL 
7=4=<O >5 <7<5=5=<< >?<<4F4, ?D<=F<?O 55D56?<6>7> ?D><76>4EF64, MDD5>F<6=> 
45=EF6>64FL 6 GD576OG4==OE E<FG4F<OE 

�� 08 �E?>?L7>64FL ED54EF64 D<7<G5E>>= >G?LFGDO 4?O E>ED4=5=<O < G>D5??5=<O 74>D>6LO 6 
?D>F5EE5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < ?>445D64=<O =5>5E>4<<>7> GD>6=O 
D<7<G5E>>= ?>47>F>6?5==>EF< 

 

�� 09 �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 7>EG44DEF65==>< < <=>EFD4==>< 
O7O>4E 

 

 

 



 8  

  3. &���&�'�%��� ���� � %���$����� ''����� �$��&��� ��.01 

&5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= ?D4>F<>< 

�4<<5=>64=<5 D4745?>6 < 
F5<, D>D<<DG5<O5 

>><?5F5=F<< 

%>45D64=<5 GG55=>7> <4F5D<4?4 �5N5< 
G4E>6 

��. 01 �$�������� $���& �� $���%&$�&�� ������/% � %�������/% ���$���'�%��% 
����/% 

180 

&5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= ?D4>F<>< «-?5>FD>D44<><4=F46=4O» 36 

&5<4 1 �=EFDG>F46 ?> &�. 
�D74=<74F<O D45>G57> <5EF4 

�� 1- 9; ��  

�6545=<5. �=EFDG>F46 ?> &� E D57<EFD4F<5= E?5F<4?L=>< 6 6GD=4?5, <=EFDG>F<6=4O 
?<F5D4FGD4. �D74=<74F<O ?D4>F<><. �7=4>><?5=<5 E ?D<5>D4<< < >5>DG4>64=<5<. 

6 

&5<4 2  

�� 1- 9; �� 1.3. 

1. �D>6545=<5 <7<5D5=<= E>?D>F<6?5=<O, =4?DO65=<O < E<?O F>>4 >><5<=<D>64==O<< 
?D<5>D4<<. �D>65D>4 <7>?OF<< <57><<5FD><. $45>F4 E M?5>FD>==O< 6>?LF<5FD><. 
2. 'F5=<5 ?D<=F<?<4?L=OE < <>=F46=OE EE5<. �D>65D>4 EE5<O E <7<5D<F5?L=O<< 
?D<5>D4<<. 
3. �>47>F>6>4 45F4?5= > ?4=>5. �445?>4 ?D>6>4>6. �D5??5=<5 ?D>6>4>6 ?D< <>=F46=OE 
D45>F4E. $45>F4 E L45?>=><. 
�>47>F>6>4 ?D>6>4>6 > <>=F46G =4 L45?>=5. 
4. �D>65D>4 ?5G4F=>= EE5<O. �7=4>><?5=<5 E <=F57D4?L=>= <<>D>EE5<>=. 
5. �>=F46 G7?4 D44<>M?5>FD>==>7> GEFD>=EF64. 'G4EF<5 6 D57G?<D>64=<< < =4?44>5 
GEFD>=EF64 E ?>45>D>< D44<>45F4?5= < E=OF<5< E4D4>F5D<EF<><, <7<5D5=<5< 6E>4=OE < 
6OE>4=OE ?4D4<5FD>6. 

30 

&5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= ?D4>F<>< «�>47>F>6>4 < =4EFD>=>4 75>D<7<G5E>>= 4??4D4FGDO < 
>5>DG4>64=<O» 

144 

&5<4 3  

�� 1- 9; �� 1.1.- 1.3 

�6545=<5. �=EFDG>F46 ?> &� E D57<EFD4F<5= E?5F<4?L=>< 6 6GD=4?5, <=EFDG>F<6=4O 
?<F5D4FGD4. �D74=<74F<O ?D4>F<><. �7=4>><?5=<5 E ?D<5>D4<< < >5>DG4>64=<5< 

�>47>F>6>4 < =4EFD>=>4 =475<=>= 75>D<7<G5E>>= 4??4D4FGDO < >5>DG4>64=<O. 
�D<=F<?O D45>FO < >5M55 GEFD>=EF6> O45D=>-?D>F>==OE < >64=F>6OE <47=<F><5FD>6. 
�>DO4>> ?>47>F>6>< < ?D>65D>< 4??4D4FGDO.  
%=OF<5 >FEGUF4 E O45D=>-?D>F>==O<< <47=<F><5FD4<< F<?4 ���-203, ����-1 < 4D. 
�45?N45=<O <47=<F=OE 64D<4F<=. �5D6<G=4O >4<5D4?L=4O >5D45>F>4 D57G?LF4F>6 
=45?N45=<=.  
�D<=F<?O GEFD>=EF64 G?DG7<E E<EF5< >64DF56OE 7D46<<5FD>6. %4D4>F5D<EF<>4 >E=>6=OE 
G7?>6 55EF5D<>EF4F4=OE >64DF56OE 4EF47<D>64==OE 7D46<<5FD>6 F<?4 ��'/�- �; �; %. 

�>DO4>> D45>FO E 7D46<<5FD4<<. �D54<4DLDGF=O5 ?D>65D><.  

72 



 9  

�4EFD>=>4 4<4?47>=4 7D46<<5FD4. $57G?<D>6>4 >?F<G5E>>= E<EF5<O. �4EFD>=>4 GD>6=5= =4 
<<=<<G< GG6EF6<F5?L=>EF< > =4>?>=G. 
D54?>?564O ?>47>F>6>4 7D46<<5FD>6. %?>E>5O MF4?>=<D>64=<O 7D46<<5FD>6 (E4D4>F5D<EF<>4 
>E=>6=OE >?5D4F<=). �>4<D<>4F<< E?>E>54 =4>?>=4, E?>E>5 ?>6OE>F=>= EN5<><, E?>E>5 
<7<5D5=<= =4 MF4?>==OE ?>?<7>=4E.  
 �D4>F<G5E>>5 >?D545?5=<5 F5=O 45?5=<O 7D46<<5FD4 E?>E>5>< =4>?>=4 < E?>E>5>< 
?>6OE>F=>= EN5<><. $4EG5F ?>7D5L=>EF5= MF4?>=<D>64=<O.  
�7GG5=<5 D56<<4 D45>FO 7D46<<5FD4. �?D545?5=<5 6D5<5=< EF4=>6?5=<O >FEG5F4, 6D5<5=< 
66>44 7D46<<5FD4 6 D56<< < ?D>4>?6<F5?L=>EF< D45>G57> D56<<4. $4EG5F ?>7D5L=>EF< 
54<=<G=>7> =45?N45=<O E 7D46<<5FD><. 
�5F>4 E>?D>F<6?5=<= 6 M?5>FD>D47654>5. -?5>FD>D>?D>D<?<D>64=<5 < 57> <>4<D<>4F<<. 
'EF4=>6>< M?5>FD>?D>D<?<D>64=<O < <5F>4<>4 ?>?56OE D45>F. �??4D4FGD4 < >5>DG4>64=<5 
4?O ?D><76>4EF64 M?5>FD>D47654>G=OE D45>F. �5D5=>E=4O 4??4D4FGD4 4?O <7<5D5=<= =4 
?>EF>O==>< F>>5 < F>>5 =<7>>= G4EF>FO. -?5>FD>D47654>G=O5 EF4=F<<.  
�>47>F>6>4 M?5>FD<G5E><E GEF4=>6>> 4?O <7<5D5=<O. $47<5F>4 ?D>6>4>6. �>47>F>6>4 
?<F4NM5= < <7<5D<F5?L=OE F5?5=, E>54<=<F5?L=OE ?D>6>4>6; ?<F4NM<E < <7<5D<F5?L=OE 
M?5>FD>4>6. �D>65D>4 < =4EFD>=>4 4??4D4FGDO (��'-�, -$�-�-���� < 4D.), ?D>65D>4 
>4FGL5>, 54F4D5= ?<F4=<O < 74DO4>4 4>>G<G?OF>D>6.   
�5DF<>4?L=>5 M?5>FD<G5E>>5 7>=4<D>64=<5. %GM=>EFL <5F>44, <5F>4<>4 ?>?56OE D45>F < 
GEF4=>6><. �>47>F>6>4 M?5>FD<G5E><E GEF4=>6>> 4?O <7<5D5=<= <5F>4>< �-�. 
�5F>4 5EF5EF65==>7> M?5>FD<G5E>>7> ?>?O (��). $<7<G5E>4O EGM=>EFL <5F>44. �D<<5=O5<4O 
4??4D4FGD4 < <5F>4<>4 =45?N45=<=. �5?>?OD<7GNM<5EO M?5>FD>4O.  
�>47>F>6>4 M?5>FD<G5E><E GEF4=>6>> < =5?>?OD<7GNM<EEO M?5>FD>4>6 4?O <7<5D5=<= 
<5F>4>< �� 6 <>4<D<>4F<OE ?>F5=F<4?4 < 7D44<5=F4. 

&5<4 4  

�� 1- 9; �� 1.1.- 1.3 

�6545=<5. �=EFDG>F46 ?> &� E D57<EFD4F<5= E?5F<4?L=>< 6 6GD=4?5, <=EFDG>F<6=4O 
?<F5D4FGD4. �D74=<74F<O ?D4>F<><. �7=4>><?5=<5 E ?D<5>D4<< < >5>DG4>64=<5<  
�>47>F>6>4 < =4EFD>=>4 E5=E<<G5E>>= 4??4D4FGDO < >5>DG4>64=<O. 
?DG7<5 6>?=O < <E >?4EE<D<>4F<O. �E=>6O 75><5FD<G5E>>= E5=E<<><. �5F>4 >FD465==OE 
6>?=. �5F>4 ?D5?><?5==OE 6>?=. �>=OF<5 > E5=E<<G5E>>< >4=4?5. %5=E<>?D<5<=<><. �5M55 
GEFD>=EF6> E5=E<>EF4=F<<. �5F>4<>4 < F5E=<>4 E5=E<>D47654>G=OE D45>F E =567DO6=O<< 
<EF>G=<>4<< 6>75G645=<= E5=E<>6>?=.  
 �D>65D>4 < =4EFD>=>4 E5=E<>EF4=F<< < ?>47>F>6>4 ?>?56>7> >5>DG4>64=<O: E5=E<>>>EO, 
<><5=F=4O ?<=<O, 74DO4>4 4>>G<G?OF>D>6 < 4D.   

36 

&5<4 5  

�� 1- 9; �� 1.1.- 1.3 

�6545=<5. �=EFDG>F46 ?> &� E D57<EFD4F<5= E?5F<4?L=>< 6 6GD=4?5, <=EFDG>F<6=4O 
?<F5D4FGD4. �D74=<74F<O ?D4>F<><. �7=4>><?5=<5 E ?D<5>D4<< < >5>DG4>64=<5<  
�>47>F>6>4 < =4EFD>=>4 E>646<==>= 75>D<7<G5E>>= 4??4D4FGDO < >5>DG4>64=<O 

36 
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�>47>F>6>4 ?D<5>D>6 > E>646<==O< <7<5D5=<O<, MF4?>=<D>6>4. �E=>6=O5 ?D<=F<?O 
<5FD>?>7<G5E>>7> >55E?5G5=<O E>646<==>= 4??4D4FGDO. �4?<5D>6>G=O5 GEFD>=EF64 4?O 
D47?<G=OE 6<4>6 >4D>F464. �D46<?4 ?D>6545=<O >4?<5D>6><. &5E=>?>7<< E>54<=5=<O >455?O 
E 7?G5<==O<< ?D<5>D4<< (7>=44<<) 4?O ?D>6545=<O ��%. %>54<=5=<5 >455?O E >455?L=>= 
7>?>6>>=. &5E=>?>7<O 7445?>< >455?L=>= 7>?>6><. �5F>4<>4 D4EG5F4 FD55G5<>7> D47DO6=>7> 
GE<?<O =4 ?>65DE=>EF<. &5E=>?>7<O E>744=<O «E?45>7> <5EF4». 

��.02 �$�������� $���& �� ��$���&�� � ��&�$�$�&�&�� ������/% � %�������/% 
���$���'�%��% ����/% 

252 

&5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= ?D4>F<>< «�5>?>7<G5E>4O» 36 

&5<4 1 �=EFDG>F46 ?> &�. 
�D74=<74F<O D45>G57> <5EF4 

�� 1- 9; ��  

�6545=<5. �=EFDG>F46 ?> &� E D57<EFD4F<5= E?5F<4?L=>< 6 6GD=4?5, <=EFDG>F<6=4O 
?<F5D4FGD4. �D74=<74F<O ?D4>F<><. �7=4>><?5=<5 E ?D<5>D4<< < >5>DG4>64=<5< 

6 

&5<4 2  

�� 1- 9; �� 2.1 3 2.3 

1. �545=<5 <4DLDGF4 E <E?>?L7>64=<5< 7>D=>7> >><?4E4. �D<5=F<D>64=<5 =4 <5EF=>EF<, 
74<5DO M?5<5=F>6 74?574=<O E?>O. �545=<5 ?>?56>7> 4=56=<>4. 
2. �7GG5=<5 75>?>7<G5E>>7> D47D574 6 D4=>=5 ?D4>F<><. �?<E4=<5 >5=465=<=, >F5>D 
>5D47F>6. �7GG5=<5 ?D>F5EE>6 6O65FD<64=<O (D<7<G5E>>7>, E<<<G5E>>7>, >D74=<G5E>>7>). 
3. �?<E4=<5 >5=465=<=, >F5>D >5D47F>6, <7GG5=<5 D>D< D5?L5D4 6 D4=>=5 ?D4>F<><, 
<7GG5=<5 75>?>7<G5E>>= 45OF5?L=>EF< 65FD4, <7GG5=<5 ?D>F5EE>6 D<7<G5E>>7> 6O65FD<64=<O. 
4. �7GG5=<5 75>?>7<G5E>>= 45OF5?L=>EF< ?>65DE=>EF=OE F5>GG<E 6>4, <7GG5=<5 D5G=OE 
F5DD4E < 4>?<= D5>. �5D47>64=<5 >6D47>6, >?<E4=<5 >5=465=<= =4 E>?>=4E >6D47>6. 
5. �7GG5=<5 75>?>7<G5E>>= 45OF5?L=>EF< 6D5<5==OE 6>4=OE ?>F>>>6, >5D47>64=<5 >6D47>6, 
<E >?<E4=<5. �7GG5=<5 ?>475<=OE <EF>G=<>>6. 
6. %>EF46?5=<5 E6>4=>7> ?<F>?>7>-EFD4F<7D4D<G5E>>7> D47D574 >F?>65=<=, 6OG5DG<64=<5 
??4=>6 75>?>7<G5E><E <4DLDGF>6, >57>D=OE EE5< D4=>=4 ?D4>F<>< < 75>?>7<G5E><E 
?D>D<?5=. 

30 

&5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= ?D4>F<>< «�5>D<7<G5E>4O» 108 

&5<4 3 �=EFDG>F46 ?> &�. 
�D74=<74F<O D45>G57> <5EF4 

�� 1- 9; �� 2.1 3 2.3 

�6545=<5. �=EFDG>F46 ?> &� E D57<EFD4F<5= E?5F<4?L=>< 6 6GD=4?5, <=EFDG>F<6=4O 
?<F5D4FGD4. �D74=<74F<O ?D4>F<><. �7=4>><?5=<5 E ?D<5>D4<< < >5>DG4>64=<5< 

6 

&5<4 4  

�� 1- 9; �� 2.1 3 2.3 

1. $475<6>4 >?>D=>= < DO4>6>= E5F<. 
2. �5F>4<>4 < F5E=<>4 ?D>6545=<O ?>?56OE D45>F =4 F>G>5, ?D>D<?5, GG4EF>5. 
3. �?D545?5=<5 E<5M5=<O «=>?L-?G=>F4». �?D545?5=<5 <=F5=E<6=>EF< E>?=5G=>EGF>G=>= 
64D<4F<<. 
4. �D>6545=<5 DO4>6>= <47=<F>D47654>G=>= EN5<><. �D>6545=<5 >>=FD>?L=OE <7<5D5=<=. 

102 
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5. �?D545?5=<5 E<5M5=<O «=>?L-?G=>F4» 7D46<<5FD4, GG6EF6<F5?L=>EF< > =4>?>=G 
7D46<<5FD4 < F5=O 45?5=<O 7D46<<5FD4. 
6. $O4>64O EN5<>4 ?> 74<>=GF><G D5=EG-74?EG. 
7. �4<5D4?L=4O >5D45>F>4 D57G?LF4F>6 <47=<F>D47654>G=>= ENU<><. $4EGUF 4=><4?<< 
65DF<>4?L=>= E>EF46?ONM5= =4?DO65==>EF< <47=<F=>7> ?>?O. 
8. �>EFD>5=<5 >4DFO-7D4D<>>6 <7<5=5=<O 4=><4?<< 65DF<>4?L=>= E>EF46?ONM5= 
=4?DO65==>EF< <47=<F=>7> ?>?O ?> ?D>D<?O<. �=F5D?D5F4F<O ?> E?>E>5G �OF=<F>>7>. 
9. �>EFD>5=<5 >4DFO <7>4<=4<. 
10. %>EF46?5=<5 74>?NG5=<O ?> >4DF5-7D4D<>>6 <7<5=5=<O 4=><4?<< 65DF<>4?L=>= 
E>EF46?ONM5= =4?DO65==>EF< <47=<F=>7> ?>?O ?> ?D>D<?O< > >>DF5 <7>4<=4<. 
11. �4<5D4?L=4O >5D45>F>4 D57G?LF4F>6 7D46<<5FD>6>= EN5<><.  
12. $4EG5F 4=><4?<= �G75 E GG5F>< D54G>F<< �G75 < $4O. 
13. �>EFD>5=<5 >4DFO7D4D<>>6 <7<5=5=<O 4=><4?<= �G75 ?> ?D>D<?O<.  
14. �>EFD>5=<5 >4DFO <7>4=><4? �G75. 
15. �4G5EF65==4O <=F5D?D5F4F<O D57G?LF4F>6 <EE?54>64=<O 7D46<<5FD>6>= EN5<><. 
%>EF46?5=<5 74>?NG5=<O (F5E=<>>-M>>=><<G5E>>7> >5>E=>64=<O 3 &-�) ?> D57G?LF4F4< 
<EE?54>64=<O. 

'G55=4O ?D4>F<>4 «�5D45>F>4 75>D<7<G5E><E 44==OE» 108 

&5<4 5 �=EFDG>F46 ?> &�. 
�D74=<74F<O D45>G57> <5EF4 

�� 1- 9; ��  

�6545=<5. �=EFDG>F46 ?> &� E D57<EFD4F<5= E?5F<4?L=>< 6 6GD=4?5, <=EFDG>F<6=4O 
?<F5D4FGD4. �D74=<74F<O ?D4>F<><. �7=4>><?5=<5 E ?D<5>D4<< < >5>DG4>64=<5< 

6 

&5<4 6  

�� 1- 9; �� 

1. �5D45>F>4 44==OE <EE?54>64=<= 6 >F>DOF>< EF6>?5 E ?><>MLN �=F57D<D>64==>= 
%<EF5<O �$���. 
2. �5D45>F>4 44==OE ��% ?D< >>=FD>?5 74 D47D45>F>>= <5EF>D>645=<=. 
3. $57<EFD4F<O 44==OE ��%. 
4. �5D45>F>4 44==OE =475<=OE =45?N45=<= E ?><>MLN �� Surfer. 

102 
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5. '%����/ $������&�� $���'�� �$��$���/  
''����� �$��&��� 

5.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G >55E?5G5=<N 

$54?<74F<O D45>G5= ?D>7D4<<O GG55=OE ?D4>F<> ?D>6>4<FEO 6 GG55=OE ?45>D4F>D<OE: 
÷ <<=5D4?>7<< < ?5FD>7D4D<<;  
÷ M?5>FD>F5E=<>< < D44<>F5E=<><;  
÷ 7D46<F4F<>==>= D47654><;  
÷ M?5>FD>D47654><;  
÷ <47=<F=>= D47654><;  
÷ E5=E<>D47654><; 
÷ D44<><5FD<G5E><E < O45D=>-75>D<7<G5E><E <5F>4>6; 
÷ 75>D<7<G5E><E <5F>4>6 ?><E>>6 < D47654>< <5EF>D>645=<= ?>?57=OE <E>>?45<OE. 

�4EF5DE><E: ?> D5<>=FG < =4EFD>=>5 75>D<7<G5E>>= 4??4D4FGDO. 
�4 ?>?<7>=4E: 

÷ 75>?>7<G5E><=; 

�4F5D<4?L=>-F5E=<G5E>>5 >E=4M5=<5 GG55=OE ?D4>F<>: 
309514, �5?7>D>4E>4O >5?4EFL, 
7. %F4DO= �E>>?, G?. �5=<=4 
14/13, �4EF5DE>4O 3 ?> 
D5<>=FG < =4EFD>=>5 
75>D<7<G5E>>= 4??4D4FGDO 7 
014 

�4O?L=<> 40 �F E> E<5==O< 64?><, ?>4EF46>4 ?>4 ?4O?L=<> �%, 
<G?LF<<5FD F<DD>6>=, >4=<D>?L E>E=>64O <4D>< �, D?NE 4?O ?4=>< 
%�$, ?D<?>= ��% 3 61, <>=F46=O= =>6 D47<5D>< 150-170 <<, 
4<M?5>FD<G5E><5 >>6D<><, =45>D >F6UDF>> E ?<=F5F><, <7>?5=F4, 
?D>6>44 D47?<G=>7> E5G5=<O < F65F>6 >??UF><, <7>?5=F4, 5>>>D57O, 
=45>DO: D57<EF>D>6, 4<>4>6, >>=45=E4F>D>6, ?D54>ED4=<F5?5=, $-', 
<=EFDG>F<<. 

�>?<7>= 75>?>7<G5E><= 

309530, �5?7>D>4E>4O >5?4EFL, 
7. %F4DO= �E>>?, G?. �5=<=4, 
4.14/13 

'G55=O5 75>?>7<G5E><5 >4DFO D47?<G=>7> <4ELF454, F>?>>E=>64 
>><?4EO 7>D=O5, ?G?O E>?44=O5, ?>?4FO, <>?>F><, DN>74><, E<F4, 
MF4?>==4O >>??5>F<O <<=5D4?>6 < 7>D=OE ?>D>4.  

309514, �5?7>D>4E>4O >5?4EFL, 
7. %F4DO= �E>>?, G?. �5=<=4 
14/13, �45>D4F>D<O - 
7D46<F4F<>==>= D47654><, 
<47=<F=>= D47654><, 
E5=E<>D47654><, 
M?5>FD>D47654>< 7 307  

�D<5>D <7<5D5=<O <47=<F=>= 6>E?D<<<G<6>EF< ����, <47=<F><5FD-

7D44<5=F><5FD ?D>F>==O= ����-1, <47=<F><5FD ��-60, <47=<F><5FD 
���-203, <47=<F><5FD ���-203�%1, 7D46<<5FD ��'-�%, 4F?4E >4DF 
<47=<F=>7> ?>?O, <=65=5D=4O E5=E<>EF4=F<O SGD-SEL-24, E5=E<>>>E4 
24->4=4?L=4O, >><??5>F E5=E<>?D<U<=<>>6 OYO Geospace, 
4>E5?5D><5FD SGD-SSH =4 >G64?4G, >G64?44 5,5 >7, ??4L>4 F<F4=>64O 
?>4 >G64?4G, M?5>FD>D47654>G=4O 4??4D4FGD4 -$�3 �3����, >4FGL>4 
M?5>FD>D47654>G=4O, >><??5>F <7<5D<F5?L=OE M?5>FD>4>6, >><??5>F 
?<F4NM<E M?5>FD>4>6, >><??5>F =5?>?OD<7GNM<EEO M?5>FD>4>6, =45>D 
?4?5F>> F5>D5F<G5E><E >D<6OE �-�, >><??5>F <5F>4<G5E><E ?>E>5<= 

�D<5>D <7<5D5=<O <47=<F=>= 6>E?D<<<G<6>EF< ����, <47=<F><5FD-

7D44<5=F><5FD ?D>F>==O= ����-1, <47=<F><5FD ��-60, <47=<F><5FD 
���-203, <47=<F><5FD ���-203�%1, 7D46<<5FD ��'-�% 
<=65=5D=4O E5=E<>EF4=F<O SGD-SEL-24, E5=E<>>>E4 24->4=4?L=4O, 
>><??5>F E5=E<>?D<U<=<>>6 OYO Geospace, 4>E5?5D><5FD SGD-SSH =4 
>G64?4G, >G64?44 5,5 >7, ??4L>4 F<F4=>64O ?>4 >G64?4G, 
M?5>FD>D47654>G=4O 4??4D4FGD4 -$�3 �3����, >4FGL>4 
M?5>FD>D47654>G=4O, >><??5>F <7<5D<F5?L=OE M?5>FD>4>6, >><??5>F 
?<F4NM<E M?5>FD>4>6, >><??5>F =5?>?OD<7GNM<EEO M?5>FD>4>6, 
D44<><5FD %$�-97, >>=F5=FD4F><5FD $��-305, =45>D ?4?5F>> 
F5>D5F<G5E><E >D<6OE �-�, 4F?4E >4DF <47=<F=>7> ?>?O, >><??5>F 
<5F>4<G5E><E ?>E>5<=, �� Celeron J4005I-C 2.7 Dual Core/ PRIME 

J4005I-C �6G> �<45> LAN1Gb USB3.0/ DIMM, ?D>5>F>D  Acer 
X118H+VDS8044D/DD414A-$4765F6<F5?L E<7=4?4 HDMI                                                                           

309514, �5?7>D>4E>4O >5?4EFL, 
7. %F4DO= �E>>?, G?. �5=<=4 
14/13, �45>D4F>D<O - 

�><??5>F ??4>4F>6, >><??5>F =47?O4=OE ?>E>5<=, D44<><5FD %$�-97, 

>>=F5=FD4F><5FD $��-305  
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D44<><5FD<G5E><E < O45D=>-

75>D<7<G5E><E <5F>4>6 7 01  
309514, �5?7>D>4E>4O >5?4EFL, 
7. %F4DO= �E>>?, G?. �5=<=4 
14/13, �45<=5F - 

<=D>D<4F<>==OE F5E=>?>7<= 
7 111 

$45>G4O EF4=F<O Acer Veriton M4610G/Intel Core i5; <>=<F>D 19" Acer-

VI93WGObmd 1440x900; ?D>5>F>D Acer %1110 1x0.65; ??4=L5F 6 

Wacom Bamboo Pen.Russian/P; M>D4= 200*210 sm Braum Photo Technik-

Professional =4EF5==O= 

�D>7D4<<=>5 >55E?5G5=<5:  
Microsoft Win7Pro x64 SP1  

(�>F ?D<5<4-?5D544G< 7140501-�� >F 20 O=64DO 2017 7>44 
>5>DG4>64=<O ?> 4>7>6>DG ?>65DF6>64=<O 7140501-�� >F 20 O=64DO 
2014 7>44) 
��% �5><<>E 4.1.204 (�>7>6>D 7751-15 >F 31 <N?O 2015 7>44) 
%<EF5<4 �4D4=F (4>7>6>D -�%-19-078 >F 09 O=64DO 2019 7>44) 
Office Pro Plus 2016 RUS OLP NL Acdmc (%G5?<F5=7<>==O= >>=FD4>F 
7 99 >F 31.10.17  
��& ?D<5<4-?5D544G< 76302 >F 15 =>O5DO 2017 7>44) 
CorelDraw Graphics Suite 2017 Edu Lic (�>=FD4>F 720 =4 >>474=<5 GE?G7 
?> ?D54>EF46?5=<N =5<E>?NG<F5?L=OE ?D46 =4 �� >F 30 <4DF4 2018) 

 
5.2. �=D>D<4F<>==>5 >55E?5G5=<5 D54?<74F<< ?D>7D4<<O 

4) =>D<4F<6=O5 4>FO: 

7 
?/? 

�EF>G=<> 

1.  $545D4?L=O5 =>D<O < ?D46<?4 6 >5?4EF< ?D><OL?5==>= 557>?4E=>EF< "�D46<?4 
557>?4E=>EF< ?D< ?D><76>4EF65, ED4=5=<< < ?D<<5=5=<< 67DO6G4FOE <4F5D<4?>6 
?D><OL?5==>7> =47=4G5=<O". 'F65D645=O ?D<>47>< $545D4?L=>= E?G65O ?> 
M>>?>7<G5E>><G, F5E=>?>7<G5E>><G < 4F><=><G =447>DG >F 3 45>45DO 2020 7>44 N 
494. 

2.  &5E=<G5E>4O <=EFDG>F<O ?> ?D>6545=<N 75>D<7<G5E><E <EE?54>64=<= < D45>F 
?D<5>D4<< =4 >455?5 6 =5DFO=OE < 747>6OE E>646<=4E. $� 153-39.0-072-01. �.: 
�<=M=5D7> $$, 2001 7. 3 272 E. 

3.  �D46<?4 75>D<7<G5E><E <EE?54>64=<= < D45>F 6 =5DFO=OE < 747>6OE E>646<=4E. 

'F65D645=O E>6<5EF=O< ?D<>47>< �<=<EF5DEF64 F>??<64 < M=5D75F<>< $>EE<< < 
�<=<EF5DEF64 ?D<D>4=OE D5EGDE>6 $>EE<< >F 28 45>45DO 1999 7>44 N 445/323 

4.  �D46<?4 557>?4E=>EF< ?D< 75>?>7>D47654>G=OE D45>F4E. �� 08-37-2005. 

5.  �=EFDG>F<< ?> E5=E<>D47654>5. �.: 2003. 4 149 E. �=EFDG>F<O E>EF46?5=4 �$'� 
�����5>D<7<>4 6 E>>F65FEF6<< E 7>EG44DEF65==O< >>=FD4>F>< �%-03-65/1892 >F 
2-.10.03. 

 

 

5) >E=>6=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 

1.  �4?>O=, �. �.  �5>D<7<>4 4?O 75>?>7>6 < M>>?>7>6 : GG55=<> < ?D4>F<>G< 4?O 6G7>6 / 
�. �. �4?>O=, �. �. $G><=, �. �. %<5?56E>>= ; ?>4 D544>F<5= �. �. �4?>O=4, �. �. 
$G><=4. 4 2-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2024. 4 412 E. 
4 (�OEL55 >5D47>64=<5). 4 ISBN 978-5-534-13298-4. 4 &5>EF : M?5>FD>==O= // 
�5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/543355 

(44F4 >5D4M5=<O: 27.02.2025). 

https://base.garant.ru/400142230/
https://base.garant.ru/70739050/
https://base.garant.ru/70739050/
https://base.garant.ru/2157674/
https://docs.cntd.ru/document/901753812#64U0IK
https://docs.cntd.ru/document/901753812#64U0IK
https://base.garant.ru/70491916/
https://urait.ru/bcode/543355
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2.  �445=>>, �. �. �5>D<7<G5E><5 <EE?54>64=<O E>646<= =4 =5DF5747>6OE 
<5EF>D>645=<OE: GG55=>5 ?>E>5<5 / �. �. �445=>>, �. �. %465=>>. 4 �>?>744 : 
�=DD4-�=65=5D<O, 2021. 4 260 E. 4 ISBN 978-5-9729-0650-5. 4 &5>EF : 

M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 

https://e.lanbook.com/book/192555 (44F4 >5D4M5=<O: 27.02.2025). 

3.  �D46<<47=<F>D47654>4 : GG55=>5 ?>E>5<5 / E>EF46<F5?< �. %. �>DFGO=, �. %. 
�D4<4D5=>>. 4 %F46D>?>?L : %�$', 2017. 4 117 E. 4 &5>EF : M?5>FD>==O= // �4=L : 
M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/155099 (44F4 
>5D4M5=<O: 27.02.2025). 

4.  %>?>6<F><=, �. �. �<EF4=F<>==O5 <5F>4O ?D< 75>D<7<G5E><E <EE?54>64=<OE : 
GG55=>5 ?>E>5<5 / �. �. %>?>6<F><=. 4 �5<5D>6> : �5<�', 2020. 4 84 E. 4 ISBN 

978-5-8353-2738-6. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O 
E<EF5<4. 4 URL: https://e.lanbook.com/book/173536 (44F4 >5D4M5=<O: 27.02.2025). 4 

$56<< 4>EFG?4: 4?O 46F>D<7. ?>?L7>64F5?5=. 
5.  �4==4=>6, �. �. �5D45>F>4 < <=F5D?D5F4F<O 44==OE E5=E<>D47654>< : GG55=>5 

?>E>5<5 / �. �. �4==4=>6. 4 �G5=4 : �>EG44DEF65==O= G=<65DE<F5F «�G5=4», 2020. 
4 170 E. 4 ISBN 978-5-89847-612-0. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-

5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/154478 (44F4 >5D4M5=<O: 
27.02.2025). 

6.  �65E>>, �. �. �E=>6O 75>D<7<G5E><E <5F>4>6 <EE?54>64=<O =5DFO=OE < 747>6OE 
E>646<= : GG55=>5 ?>E>5<5 / �. �. �65E>>, �. �. �65E>>, �. �. �5D>G?>6. 4 2-5 <74., 
4>?. 4 �>?>744 : �=DD4-�=65=5D<O, 2020. 4 228 E. 4 ISBN 978-5-9729-0465-5. 4 

&5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 

https://e.lanbook.com/book/148407 (44F4 >5D4M5=<O: 27.02.2025). 

 

6) 4>?>?=<F5?L=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 

1.  �GD46?56, �. �. �GD5=<5 < 75>D<7<G5E><5 <EE?54>64=<O E>646<= / �. �. �GD46?56, 
�. �. �GD46?56, �. �. %5D55DO>>6. 4 4-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 : �4=L, 2023. 
4 344 E. 4 ISBN 978-5-507-47246-8. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-

5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/346442 (44F4 >5D4M5=<O: 
27.02.2025).  

2.   

 

7) ?5D<>4<G5E><5 <744=<O: 

7 
?/? 

�EF>G=<> 

1.  �5>D<7<>4:  =4GG=>-F5E=. 6GD=. / GGD54<F5?L : �56D57<>=4?L=4O >5M5EF65==4O 
>D74=<74F<O �6D>-�7<4FE>>5 75>D<7<G5E>>5 >5M5EF6>.3 �>E>64 : �56D57<>=4?L=4O 
>5M5EF65==4O >D74=<74F<O �6D>-�7<4FE>>5 75>D<7<G5E>>5 >5M5EF6>, 1993 3. 3 

�OE>4<F 6 D47 6 7>4. 3 IS�N ?5G4F=>= 65DE<< 1681-4568. 3 &5>EF : =5?>ED54EF65==O=. 
2.  �4D>F46=<> : =4GG=>-F5E=. 65EF=<> / GGD54<F5?L �564. �EE>F. =4GG=>-F5E=.  < 

45?>6>7> E>FDG4=<G5EF64 ?> 75>D<7. <EE?54. < D45. 6 E>6-=4E. 3 &65DL : 1992 3 . 3 

�OE>4<F 12 D47 6 7>4. 3 IS�N ?5G4F=>= 65DE<< 1810-5599. 3 &5>EF : M?5>FD>==O=  // 

https://e.lanbook.com/book/192555
https://e.lanbook.com/book/155099
https://e.lanbook.com/book/173536
https://e.lanbook.com/book/154478
https://e.lanbook.com/book/148407
https://e.lanbook.com/book/346442
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-�% elibrary [E4=F]. 4 URL : https://elibrary.ru/contents.asp?titleid=9587 (44F4 
>5D4M5=<O: 27.02.2025). 

 

4) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 
7 
?/? 

�EF>G=<> 

1. 2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. �=65=5D=>-F5E=<G5E><5 
=4G>< (&N<�')  e.lanbook.com   

2. 3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: �5M5EF6> E  
>7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU)  elibrary.ru 

3. 4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&»  urait.ru.  

4. 5 �=D>D<4F<>==>-?D46>6>5 >55E?5G5=<5 «�4D4=F» (?>>4?L=4O <=D>D<4F<>==>-?D46>64O 
E<EF5<4) garant.ru 

 

5.3. �5M<5 FD55>64=<O > >D74=<74F<< GG55=>= ?D4>F<>< 

 'G55=4O ?D4>F<>4 >D74=<7G5FEO E >5O74F5?L=O< 6O?>?=5=<5<  >F45?L=OE  6<4>6 
D45>F =4 ?>?<7>=4E, =4 <5EF=>EF<, 6 GE?>6<OE, <4>E<<4?L=> ?D<5?<65==OE > GE?>6<O< 
?D><76>4EF64. '4EFL D45>F 6O?>?=O5FEO 6 >45<=5F4E.  �4<5D4?L=O5 D45>FO 6O?>?=ONFEO 6 
4G4<F>D<<. �E5 6<4O D45>F 6O?>?=ONFEO ?>4 DG>>6>4EF6>< DG>>6>4<F5?O ?D4>F<><. 
5.4. �44D>6>5 >55E?5G5=<5 >5D47>64F5?L=>7> ?D>F5EE4  
�5447>7<G5E><5, <=65=5D=>-?5447>7<G5E><5 >44DO, >EGM5EF6?ONM<5 DG>>6>4EF6> ?D4>F<>>= 
<<5NF 6OEL55 >5D47>64=<5, E>>F65FEF6GNM55 ?D>D<?N. �D5?>4464F5?< ?D>E>4OF EF46<D>6>G 
6 ?D>D<?L=OE >D74=<74F<OE =5 D565 1 D474 6 3 7>44. 
 

6. ���&$��, � �&���� $��'�,&�&�� �%�����/ ''����� �$��&��� �� 
�$�$�%%�����,���' ���'�. 

�>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O GG55=>= ?D4>F<>< >EGM5EF6?O5FEO ?D5?>4464F5?O<< 
6 ?D>F5EE5 ?D>6545=<O 74=OF<= < ?D<U<4 >FG5F>6, 4 F4>65 E44G< >5GG4NM<<<EO 74G5F4. 
 

$57G?LF4FO >5GG5=<O 

(?D<>5D5F5=<5 ?D4>F<G5E>>7> >?OF4, >E6>5==O5 
G<5=<O, GE6>5==O5 7=4=<O) 

$>D<O < <5F>4O >>=FD>?O < 
>F5=>< 

D57G?LF4F>6 >5GG5=<O 
��.01 �D>6545=<5 D45>F ?> D57<EFD4F<< =475<=OE < E>646<==OE 75>D<7<G5E><E 
44==OE 
�D<>5D5FU==O= ?D4>F<G5E><= >?OF: 
6O?>?=5=<O ?>?56OE < ?D>EF5=L<E <4D>L5=45DE><E 
D45>F; 
D45>FO E ?D<5>D4<< 5GD5=<O; 
>D>D<?5=<O 7D4D<G5E><E ?D<?>65=<= 6 E>>F65FEF6<< E 
<=EFDG>F<6=O<< FD55>64=<O<<; 
>?D545?5=<O >?F<<4?L=>7> <5F>44 75>D<7<G5E><E 
<EE?54>64=<=; 
?>47>F>6>< 75>D<7<G5E>>= 4??4D4FGDO, >>=FD>?L=>-

<7<5D<F5?L=OE ?D<5>D>6 < >5>DG4>64=<O; 
<>=F464 (>><??5>F4F<<) GEF4=>6>> 4?O ?D>6545=<O 
75>D<7<G5E><E D45>F;  
�E6>5==O5 G<5=<O: 

->E?5DF=>5 =45?N45=<5 < 
>F5=>4 45OF5?L=>EF< 
>5GG4NM<EEO 6 ?D>F5EE5 
6O?>?=5=<O D45>F ?D< 
?D>E>645=<< ?D4>F<>< 

�>=FD>?L 74 E>>F65FEF6<5< 
E>45D64=<O >FG5F4 ?> 
?D4>F<>5. �4G5F. 
 
 
 

https://elibrary.ru/contents.asp?titleid=9587%20
http://www.e.lanbook.com/
https://www.elibrary.ru/defaultx.asp
http://www.biblio-online.ru/
https://www.garant.ru/
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6OG5DG<64FL ??4=O, EE5<O, >4DFO; 
>?D545?OFL < >?<EO64FL 65M5EF65==O= E>EF46 ?>?57=OE 
<E>>?45<OE; 
?>?L7>64FLEO ?D<5>D4<< < <=EFDG<5=F>< 4?O 6O?>?=5=<O 
75>457<G5E><E 

< <4D>L5=45DE><E D45>F; 
D4E?>7=464FL 7>D=O5 ?>D>4O < ?>475<=O5 6>4O ?> 
GE?>6<O< <E >5D47>64=<O < 4<47=>EF<G5E><< ?D<7=4>4<; 
6O5<D4FL E?>E>5O 5GD5=<O 6 746<E<<>EF< >F ?D<D>4O 

7>D=OE ?>D>4; 
G<F4FL 75>?>7<G5E><5 < F>?>7D4D<G5E><5 >4DFO; 
>?<EO64FL E4D4>F5D=O5 D>D<O D5?L5D4; 
>?D545?OFL >E=>6=O5 D>D<O < M?5<5=FO 74?574=<O 
7>D=OE ?>D>4 < <7>5D464FL <E =4 75>?>7<G5E><E >4DF4E; 
?>45<D4FL 75>D<7<G5E>GN 4??4D4FGDG < >>=FD>?L=>-

<7<5D<F5?L=O5 ?D<5>DO ?> 6O5D4==><G <5F>4G 
75>D<7<G5E><E <EE?54>64=<=; 
?D>65DOFL D45>F>E?>E>5=>EFL 4??4D4FGDO < 
?D<5>D>6, ?D<E>54<=OFL <E > GEF4=>6>4<; 
D57G?<D>64FL < =4EFD4<64FL 4??4D4FO < ?D<5>DO =4 ?D<5< 
E>>F65FEF6GNM57> E<7=4?4; 
?D><76>4<FL ?D<5< E<7=4?4; 
6O?>?=OFL >?D545?5==O5 D4EG5FO ?> 
<>45?<D>64=<N GEF4=>6>< < E<7=4?>6; 
>?D545?OFL GG6EF6<F5?L=>EFL GEF4=>6>< < >4G5EF6> 
E<7=4?4. 
��.02 �D>6545=<5 D45>F ?> >5D45>F>5 < <=F5D?D5F4F<< =475<=OE < E>646<==OE 
75>D<7<G5E><E 44==OE  

�D<>5D5F5==O= ?D4>F<G5E><= >?OF: 
6O?>?=5=<O 75>D<7<G5E><E <EE?54>64=<=; 
>?D545?5=<O 4??4D4F>6 ?D<5>D>6, 6O7O64NM<E 
G<5=LL5=<5 >4G5EF64 E<7=4?4 < G65?<G5=<5 GD>6=O 
?><5E; 
>5>5M5=<O D57G?LF4F>6 < ?>47>F>6>< >>=5G=OE 
<4F5D<4?>6 75>D<7<G5E><E <EE?54>64=<=; 
 

->E?5DF=>5 =45?N45=<5 < 
>F5=>4 45OF5?L=>EF< 
>5GG4NM<EEO 6 ?D>F5EE5 
6O?>?=5=<O D45>F ?D< 
?D>E>645=<< ?D4>F<>< 

�>=FD>?L 74 E>>F65FEF6<5< 
E>45D64=<O >FG5F4 ?> 
?D4>F<>5. �4G5F. 
 
 

�E6>5==O5 G<5=<O: ?D><76>4<FL <7<5D5=<O <  65EF< 
?>?56GN 4>>G<5=F4F<N; 
6O5<D4FL >?F<<4?L=O5 ?4D4<5FDO G?D46?ONM<E 
E<7=4?>6; 
6OO6?OFL 4??4D4FO < ?D<5>DO ?D< >E?45?5=<< E<7=4?>6 
< G65?<G5=<O GD>6=O ?><5E; 
?D><76>4<FL <5?><= D5<>=F 75>D<7<G5E>>7> 
>5>DG4>64=<O; 
>F5=<64FL ?4D4<5FDO < ?D<D>4G <5EF>D>645=<O 
?>?57=OE <E>>?45<OE; 

->E?5DF=>5 =45?N45=<5 < 
>F5=>4 45OF5?L=>EF< 
>5GG4NM<EEO 6 ?D>F5EE5 
6O?>?=5=<O D45>F ?D< 
?D>E>645=<< ?D4>F<>< 

�>=FD>?L 74 E>>F65FEF6<5< 
E>45D64=<O >FG5F4 ?> 
?D4>F<>5. �4G5F. 
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=4=>E<FL D57G?LF4FO <EE?54>64=<= =4 75>?>7<G5E><5 < 
75>D<7<G5E><5 >4DFO; 
>EGM5EF6?OFL >5D45>F>G < >4G5EF65==GN <=F5D?D5F4F<N 
D57G?LF4F>6 <EE?54>64=<=; 
>?D545?OFL <47=<F=GN 6>E?D<<<G<6>EFL < >EF4F>G=GN 
=4<47=<G5==>EFL >5D47F>6; 
EFD><FL >4DFO < 7D4D<>< <47=<F=OE 4=><4?<=; 
?D>6>4<FL D45>FG <5F>44<< M?5>FD>7>=4<D>64=<O, 
?D>D<?<D>64=<O < <5F>4>< 74DO44; 
6O5<D4FL 65?<G<=O 67DO6G4FOE 65M5EF6 < 7?G5<=G 
?>7DG65=<O 4DO44; 
>5D454FO64FL ?5D6<G=O5 6EFG??5=<O =4 E5=E<>7D4<<4E 
?> <5F>44< >FD465==OE < ?D5?><?5==OE 6>?= < EFD><FL 
7>?>7D4<<O; 
<7<5DOFL D44<>4>F<6=>EF< 7>D=OE ?>D>4 < DG4; 
>?D545?OFL D57G?LF4FO 74<<4-E?5>FD4?L=>= < 
M<4=4F<>==>= EN5<><; 
GEF4=46?<64FL < D476>D4G<64FL >4D>F46=GN EF4=F<N 4?O 
?D>6545=<O 75>D<7<G5E><E <EE?54>64=<= E>646<=; 
?D>6>4<FL <EE?54>64=<O E>646<= E ?><>MLN ??4EF>6, 
7DG=F>=>E>6, >5D=>E5>D=<>>6; 
6O5<D4FL >><??5>E<D>64==O= <5F>4 <EE?54>64=<= ?> 
>>=>D5F=><G 7444=<N =4 DG4=OE < 4DG7<E 
<5EF>D>645=<OE ?>?57=OE <E>>?45<OE; 
E>5?N44FL ?D46<?4 >ED4=O FDG44,>>DG64NM5= ED54O < 
F5E=<>< 557>?4E=>EF< ?D< 75>D<7<G5E><E <EE?54>64=<OE. 
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